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Mathematics (Code-041) Term - 2 SET NO. - 2 /2022
CHOUDHARY’S Sample Question Paper CLASS: XII
Session: 2021-22

Time Allowed : 2 hours Maximum Marks: 40

General Instructions:

1.This question paper contains three sections — A, B and,C. Each
part is compulsory.

2.Section — A has 6 short answer type (SAl) questions of 2umnarks
each.

3.Section - B has 4 short answer type (SA2) questions of 3
marks each.

4.Section - C has 4 long answer type questions (LA) of 4 marks
each.

5.There is an internal choice in somefof, the questions.

6.Q14 is a case-based problem having 2 sub=parts of 2\marks each.

SECTION - A

Cos Xx 2

1. | Evaluate: (

1-sinx)(2-sinx)

2. | Solve the differential equation: x2 Z—i/ =x? + Xy +yZ.

. |[Ifd=1+j+k and\b =2i -] #Bkand ¢ =1-2j + k find a unit | 2
vector paralleinto the vector 2a — b%-'8C.

OR
Find 1, whereyptojectionmof\d =\ i +j + 4 k on b = 2{ +6] + 3k
is 4 unit.

4., Write'\the vector equations of a line passing through the point | 2

(1,1, 2 ) and pardiléisto the line xz?’ = y;1 = Z_+21 :

5. |In a eol€ge,N\30% students fail in Physics, 25% fail in| 2
Mathematies and 10% fail in both. One student is chosen at
randomWNFihd the probability that she fails in Physics if she
has failed in Mathematics.
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6. |IfP(A) = % , P(B)= 13—0 and P(A N B)= g, then find the value of
PA'|B) .
SECTION - B
7. 1_\/§
Evaluate: | oy dx.
OR
Evaluate | (%
x*—2x4+81
8. | Find a unit vector perpendicular to each on
47-j+3k andb= 21+72; - k.
9. | Solve the differential equation: %
dy .
cosx.——+y=sinx. \
10. | Find the equation of the p %ing t
2,3,4), (5,6,7) and (1,0,0)
A\
Find the shortest dist \ﬂ een the lines:
T=1+j+ A2i-]+ k) and
T=20+]-k+p( i%2k). o
ECTIO
\
11.

o% gion bounded by the line y= 3x + 2, the
inates x = -1 and x =1.

13.

Find the of the perpendicular drawn from the point
(-1,3,-6 e plane 2x +y-2z+5=0. Also find the equation and

length of the perpendicular.
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14.

CASE STUDY BASED/ DATA- BASED

-

In an office three employees Rajarshi
process incoming copies of a cer in,_
50% of the forms, Tamanna processes

remaining 30% of the forms. arshi has an e% te“ef 0.06,

Tamanna has an error rate .0 As
rate of 0.03.
N
Based on the above inﬁrnN answe%f wing:
b

i) Find the tot obability, committing an error in
processing or \

ii) The the co Eraants to do a quality check.
Duri ection he.s ts a form at random from the
da% t of pr%ﬂd rms. If the form selected at
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